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Seat No.: ________                                                     Enrolment No.______________  

 

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGINEERING – SEMESTER- III  EXAMINATION –Summer- 2019 

 

Subject Code: 3330206 Date: 17-05-2019     

Subject Name: Automobile Component Design 

Time: 02:30 PM to 05:00 PM Total Marks: 70 
Instructions: 

 

 1. Attempt all questions. 

 2. Make Suitable assumptions wherever necessary.  

 3. Figures to the right indicate full marks.  

 4. Use of programmable & Communication aids are strictly prohibited.  

 5. Use of only simple calculator is permitted in Mathematics.  

 6. English version is authentic. 

 
Q.1  Answer any seven out of ten. દશમ ાંથી કોઇપણ સ તન  જવ બ આપો. 14 

 1.  Write down the types of loads.  
 ૧. લોડ ન  પ્રક ર જણ વો.  

 2. Define factor of safety.  
 ૨. ફેક્ટર ઓફ સેફ્ટી સમજાવો   

 3. Write down types of fit.  
 ૩. ફફટ ન  પ્રક ર જણ વો.  

 4. Write down the function of piston rings.  
 ૪. ફપસ્ટન ફરાંગ ન  પ્રક ર જણ વો   

 5. Write down types of clutch.  
 ૫. કલચ ન  પ્રક ર જણ વો.  

 6. Write down function of connecting rod.  
 ૬. ક્નેફક્ટાંગ રોડ ન  પ્રક ર જણ વો.   

 7. Why propeller shaft is made hollow?  
 ૭. પ્રોપેલર શ ફ્ટ પોલો કેમ બન વ મ ાં આવે છે?  

 8. Write down function of flywheel.  
 ૮. ફ્લ યવ્હીલ ન ાં ક યયજણ વો.   

 9. Write down types of gearbox.  
 ૯. ગીયર બોક્સ ન  પ્રક રો લખો.  

 10. Give the name of fundamental units.  
 ૧૦. પ ય ન  એકમો ન  ન મ લખો.   

    
Q.2 (a)   Explain the design criteria of piston. 03 

પ્રશ્ન. ર (અ)  ફપસ્ટન ફડઝ ઇન ક્ર ઇટેફરય  જણ વો ૦૩ 

  OR  
 (a)      Write advantage of aluminum piston over cast iron piston. 03 
 (અ) ક સ્ટ આયનય  ફપસ્ટન કરત ાં એલ્ય ફમફનયમ ફપસ્ટન  ન  ફ યદ  જણ વો. ૦૩ 

    (b) Why connecting rod usually made from I-section? 04 
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 (બ) કનેફક્ટાંગ રોડ I-સેક્શન  કેમ બન વ ય છે ? ૦4 

  OR  
 (b)          Explain various stresses on connecting rod? 04 
 (બ) કનેફક્ટાંગ રોડ પર લ ગત  પ્રફતબળ સમજાવો.  ૦4 

 (c) Find piston head thickness for 4 stroke engine from following data: 

Cylinder bore:110 mm, stroke 135 mm, max gas pressure: 5 N/mm2 

indicated mean effective pressure:0.75 N/mm2 ,mech efficiency:80% 

fuel consumption :0.15 kg/bp/hour, higher calarofic value:42000 kj/kg  

speed:2000 rpm ,C=0.05  ,k=46.6 W/m/0C,  Tc-Te=220 0C 

, Take  6t=38 N/mm2 

07 

   (ક)          નીચેની મ ફહતી મ ટે 4-સ્ટર ોક એફજજનની ફપસ્ટન હેડ જડ ઈ શોધો.  
ફસફલજડર બોર:110 mm            સ્ટર ોક : 135 mm 

મહતમ ગેસ દબ ણ :5 N/mm2  ઇાં ડીકેટેડ મીન ઇફેકટવ દબ ણ:0.75 N/mm2  

ફમકેનીકલ ક્ષમત  :80%          ફ્ય અલ વપર શ:.0.15 kg/bp/hour 
એચસી:42000 kj/kg            સ્પીડ :2000 rpm 
C=0.05, k=46.6 W/m/0C,  Tc-Te=220 0C લો.         

૦7 

                                                           OR  
 (c) Explain the Design procedure of I section of connecting rod. 07 
 (ક) કનેફક્ટાંગ રોડ I-સેક્શન ની ફડઝ ઇન સમજાવો.  ૦7 

    
 Q.3 (a)       Explain the design consideration for valve. 03 

પ્રશ્ન. 3 (અ) વ લ્વ ફડઝ ઇન મ ટે લક્ષમ ાં લેવ ની બ બતો જણ વો.  ૦૩ 

                                                           OR  
 (a) Write down types the of crankshaft. 03 

 (અ) કે્રજકશ ફ્ટ ન  પ્રક ર  જણ વો.  ૦૩ 

 (b) Explain the design consideration for crankshaft. 04 
 (બ) કે્રજકશ ફ્ટ ફડઝ ઇન મ ટે લક્ષમ ાં લેવ ની બ બતો જણ વો.  ૦4 

                                                          OR  
 (b)        Explain bearing pressure and stresses on crankshaft. 04 
 (બ) કે્રજકશ ફ્ટ મ ાં બેફરાંગ પ્રેશર અને પ્રફતબળ સમજાવો. ૦4 

 (c)        The gear ratio for a car are: 1st gear 3.5:1,2nd  gear 2:1, top gear 1:1 

 
07 

  Constant ratio of differential= 4.5. determine the speed of car in each 

 

 gear if engine  

૦7 
  Gear if engine RPM 3000 and rear wheel diameter is 70 cm.  
 (ક) એક ક રમ ાં ફગયર રફેશયો નીચે પ્રમ ણે છે. પ્રથમ ફગયર 3.5:1 બીજો ફગયર 

2:1 ટોપ ફગયર 1:1, ફડફરજેશીયલ ફગયર રફેશયો 4.5.જો પૈડ નો અસરક રક  
વ્ય સ 70 સેમી અને એફજજન  ની ઝડપ 3000 RPM હોય તો દરકે ફગયર   મ ાં 
વ હન ની ઝડપ શોધો.  

 

                                      OR  

 (c)        An automobile engine develops18 kgm  torque. Its differential gear ratio        

4.5 and gear box bottom ratio 3.00. if permissible shear stress 3500 kg/cm2 

Find shaft diameter. 

૦7 
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    (ક) એક ઓટોમોબ ઈલ એફજજન 18 kgm નો વધ મ ાં વધ  ટોકય  ઉત્પન્ન  કર ેછે. 
ફડફરજેશીયલ ફગયર રફેશયો 4.5 અને ફગયર બોક્સ બોટમ રફેશયો 3.0 છે. 
તેનો પરફમફસબલ ફશયર સ્ટર ેસ 3500 kg/cm2 છે તો શ ફ્ટ નો વ્ય સ શોધો .  
  

૦7 

    
Q.4   (a)     Explain maximum fluctuation of energy in flywheel. 07 

પ્રશ્ન. ૪ (અ) ફ્લ યવ્હીલ મ ાં એનજીન ાં મહત્તમ ફલ્કચ્ય એશન સમજાવો. ૦7 

  OR  
 (a) Give name of different  types clutch and explain any one. 07 
 (અ) ક્લચ ન  પ્રક ર જણ વી કોઇ પણ એક સમજાવો.  ૦7 

 (b)    Derive the equation of single plate clutch for uniform wear condition. 07 
 (બ) ફસાંગલ પ્લેટ ક્લચન ાં ય ફનફોમય ઘસ ર  શરત ન ાં સૂત્ર ત રવો.  ૦7 

    
Q.5 (a)   Explain stress concentration. 04 

પ્રશ્ન. ૫ (અ) સ્ટરેસ કોજસટરેશન સમજાવો. ૦૪ 

 (b) Write down factor affecting auto component design. 04 
 (બ) ઓટો કોમ્પોનજટ ડીઝ ઇન ને અસરકત ય પફરબળો જણ વો. ૦૪ 

 (c) Explain crank shaft nomenclature. 03 
 (ક) કે્રજકશ ફ્ટ ન  ન મ ની સૂફચ આપો. ૦૩ 

 (d) Explain torque tube type propeller shaft. 03 
 (ડ) ટોકય  ટ્ય બ પ્રક ર નો પ્રોપેલર શ ફ્ટ સમજાવો.  ૦૩ 

 
************  


